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/* @BEGIN_OF _SOURCE_CODE */

/* @JUDGE_ID: 46288WZ 10037 C " */

#include <stdio.h>
#include <stdlib.h>

#define MAX_N 1000

int compare( const void *argl, const void *arg2 )

{
return (*(int*)argl) - (*(int*)arg2);

void main()

{

int total_case, i;

scanf("%d", &total_case);

for (i =0;i < total_case; i++)
{
int n, j;
int time[MAX_N] = {0};
int total_time = O;
int sequence_size = 0;
int sequence_num[MAX_N*2-1] = {0};
int sequence_person[MAX_N*2-1][2] = {0};

scanf("%d", &n);

for (j=0;j<n;j++)
scanf("%d", &time[j]);

gsort( (void *)time, (size_t)n, sizeof(int), compare );



while (n > 3)
{
/* if size is larger than 3...
we can select between 2 scenarios
suppose x1, x2 is 1st & 2nd smallest num
and x3, x4 is 1st & 2nd largest num
1st scenario : (x1, x2) (x1) (x3, x4) (x2) = x2+x1+x4+x2
2nd scenario : (x1, x3) (x1) (x1, x4) (x1) = x3+x1+x4+x1
if (x2+x2) < (x3+x1), we choose 1st scenario, otherwise 2nd. */

int x1, x2, x3, x4;

x1 = time[O0];
X2 = time[1];
x3 = time[n-2];
x4 = time[n-1];

if (x2+x2 < x3+x1)

{
/* 1st scenario */
sequence_num[sequence_size] = 2;
sequence_person[sequence_size][0] = x1;
sequence_person[sequence_size][1] = x2;
sequence_size ++;
sequence_num[sequence_size] = 1;
sequence_person[sequence_size][0] = x1;
sequence_size ++;
sequence_num[sequence_size] = 2;
sequence_person[sequence_size][0] = x3;
sequence_person[sequence_size][1] = x4;
sequence_size ++;
sequence_num[sequence_size] = 1;
sequence_person[sequence_size][0] = x2;
sequence_size ++;

total_time += x2+x1+x4+x2;



else

{
/* 2nd scenario */
sequence_num[sequence_size] = 2;
sequence_person[sequence_size][0] = x1;
sequence_person[sequence_size][1] = x3;
sequence_size ++;
sequence_num[sequence_size] = 1;
sequence_person[sequence_size][0] = x1;
sequence_size ++;
sequence_num[sequence_size] = 2;
sequence_person[sequence_size][0] = x1;
sequence_person[sequence_size][1] = x4;
sequence_size ++;
sequence_num[sequence_size] = 1;
sequence_person[sequence_size][0] = x1;
sequence_size ++;
total_time += x3+x1+x4+x1;

}

n-=2;

}

/* n=3 case -> make n=2 */

if (n==3)

{
sequence_num[sequence_size] = 2;
sequence_person[sequence_size][0] = time[0];
sequence_person[sequence_size][1] = time[2];
sequence_size ++;
sequence_num[sequence_size] = 1;
sequence_person[sequence_size][0] = time[0];
sequence_size ++;
total_time += time[2]+time[0];

n--;



/* n<=2 : send all and finish */
sequence_num[sequence_size] = n;
for (j=0;j<n;j++)

{

sequence_person[sequence_size][j] = timel[j];

}
total_time += time[n-1];

sequence_size ++;

/* print all */
printf("%d¥¥n", total_time);
for (j = 0; j < sequence_size; j++ )
{
int k;
for ( k = 0; k < sequence_num[j]; k++)
{
printf("%d", sequence_person[j][k]);
if ( k <sequence_num[j]-1)
printf(" ");
else
printf("Wn");
}
}

if (i <total _case-1)
printf("Wn");

/* @END_OF_SOURCE_CODE */



